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| do...
Enlarge the quadrilateral shown by scale
factor -2 from centre of enlargement (2,3)
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We do...
Enlarge the triangle shown by scale factor -2
from centre of enlargement (2,1)
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You do...
Enlarge the quadrilateral shown by scale
factor -2 from centre of enlargement (4,2)
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Enlarge the
pentagon by a
scale factor of -2
from centre of

enlargement (9,4).
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Enlarge the
quadrilateral by a
scale factor of -4

from centre of

enlargement (4,3).
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Enlarge the
triangle by a
scale factor of -6
from centre of
enlargement
(14,2).
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Enlarge the
quadrilateral by
a scale factor of
-4 from centre of

enlargement

(4,3).
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Enlarge by a scale factor of -2 from centre of enlargement (8,06).
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Enlarge by a scale factor of 2 from centre of enlargement (8,6).
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